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21
(kg/ )
3.8E+2 380.0 380.0
5.0E+3 5,010.0 5,010.9
24E+1| 2.5E+4 24,983.2 24,988.5
1.7E+1 16.7 16.7
9.5E+1 95.0 95.0
10E-1] 3.2E+0 &3 83
9.5E+3 9,476.3 9,549.3
7.0E-1| 4.4E+2 440.0 440.1
3.3E+2 330.0 2,630.0
3.3E+1| 15E+4 15,033.0 15,039.6
7.2E+2 720.0 720.0
1.0E+2 100.0 105.2
2.6E+2 260.0 260.0
3.3E+4 32,665.8 32,970.8
5.2E+1 52.2 52.4
7.1E+2 710.0 710.0
18E+1| 55E+3 5,478.5 54915
2.6E+2 264.8 568.8
5.0E+3 5,003.4 5,066.7
8.7E+0 8.7 8.7
2.3E+0 2.3 2.3
9.6E+1 96.0 96.0
2.5E+3 2,516.0 2,552.0
1.0E+1 10.0 10.0
2.0E+1 20.0 20.0
5.2E+3 5,201.3 52744
7.3E+3 7,330.0 7,343.0
75E+1] 1.2E+5 116,206.5 119,405.2




